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SN PIMT D
M AQALEX
el PlMels B AW (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| A A zH D} 2,964,922 1,496,636 1,468,286
= 1,399,390
Al 1,565,532
ASI2A LS 2,820,316 1,374,748 1,445,568
= 1,360,000
Al 1,460,316
M A EM5 X 20,676 37,108 N 16,432
SSAMI A 22 4,700 22,200 A 17,500
201 et 2,300 360 1,940
01 AP 2t 2] H| 2,300 360 1,940
ORIMEH HIEE SR2X Z=IH HE
100,000 = 2304 2,300
203 € R F=&d| 1,000 1,000 0
03 AIEH =X 2 F XY 1,000 1,000 0
OfMAH SHotAR F& 1,000,000 1,000
301 et A= 1,400 840 560
09 HAIAHI EAZ 1,400 840 560
OFFA FAMHE2s EHAX =4
7,000& * 509 = 43| 1,400
AEZZSAMA AL 22 15,976 14,908 1,068
201 et d| 8,500 8,500 0
01 AR 22l ] 8,500 8,500 0
OXEZ2ZRMAAL 2A2EE 3,900
OXNEE 10,000 * 1504 * 23] 300
[OF==} 120,000 = 1500 A& * 23] 3,600
ORBBEIAMAL MA 22 Y
20,000 * 4004 * 23] 1,600
OFMeA WSS MH EHS
500& = 6,0000H4 3,000
301 et A= 7,476 6,408 1,068
11 JIEtE A2 7,476 6,408 1,068
OHUEZEAMAL MYII2E X
890& * B600H * 7090 A * 23] 7,476
ML= ARG L oM G 2,799,640 1,337,640 1,462,000
= 1,360,000
Al 1,439,640
DHSAAE 22l 58,500 56,500 2,000
201 et d| 8,500 8,500 0
01 AR 22l ] 8,500 8,500 0
ORYHAAM XNHIE S 82 1,000 * 5008 500
oORYHAA ESEMI} H 2,000& * 4,00082 8,000
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 Bt A= 50,000 48,000 2,000
11 JIEtE A= 50,000 48,000 2,000
ORHEAA M E I (MrHII=2E 2)
400,000& = 12500 &~ 50,000
MNESE e 16,140 16, 140 0
201 et d| 16,140 16, 140 0
01 AFR 2t 2| H| 16,140 16, 140 0
OAZS (Y L E2Ac A3 222 NN 3,900
[@)=Esls 70,000€ * 204 1,400
OsBE= 500 * 25,0000H 12,500
OMEIM(ASS)HIA2L S
7,0008 * 4% » 82 * 103 2,240
AME HZEA 22 5,000 5,000 0
201 B9 5,000 5,000 0
01 AP 22| H| 5,000 5,000 0
OAMBMEIIZ2YA 2 RANHA S K0l
200 * 1,0000H = 5= 1,000
OAIZEQINM 2 I SO (YAHER)
10,0008 = 4008 4,000
Helo|S2A 2| XNJ}AEH &4 2,720,000 1,260,000 1,460,000
= 1,360,000
Al 1,360,000
307 212t0| & 2,720,000 1,260,000 1,460,000
= 1,360,000
Al 1,360,000
02 DIZFEAAIE E X 2,720,000 1,260,000 1,460,000
OO0 SAZURXNAALME 2L (JE)
700,000,000& = 3JH 4~ 2,100,000
= 1,050,000
Al 1,050,000
OO0 SAZURXNALME 2 (A7)
620,000,000 = 1JH 2 620,000
= 310,000
Al 310,000
Al S A2t 118,910 96,080 22,830
= 39,390
Al 79,520
OHNMAIE 22 L 2ANES 235 114,510 93,280 21,230
= 39,390
Al 75,120
AL U BEY SSTAFT 22| 35,230 35,750 A 520
201 et 9| 5,850 5,850 0
01 AP 2t 2] d| 5,850 5,850 0
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HB - B (3H) - NEAY - BAS O 4t o8 il 2t
PEEEREER L
500& * 1,5000H * 4= 3,000
OMOIAM A HEDRDR Yot
100,000& = 69 600
OAHINAZEQMZAK D W HZE
15,0008 * 150& 2,250
202 O4d| 14,280 14,280 0
02 X0l 14,280 14,280 0
AZTZALLY EHNH|
170,000& + 798 = 12& 14,280
206 M = dl 15,100 15,620 A 520
01 XHZ Hl 15,100 15,620 A 520
ORME ZAS AE ME = 7,000
OCtAHIAZ 5,000& * 705 * 208 7,000
OAIES ol 2012 AF DR 2 8,100
OEGAPTIIE 300,000 = 2004 6,000
OgoH 6002 * 5004 300
Ogz@Ma=4 800& = 1,000H 800
OgZIHMED] 2,000& = 5004 1,000
el oJIsAasE dEa2ed 24 30,000 24,000 6,000
= 15,000
Al 15,000
301 Bt A= 30,000 24,000 6,000
= 15,000
Al 15,000
11 JIEtE2 A= 30,000 24,000 6,000
OO0 JsAaE M2y &
50,000& = 50 * 12& 30,000
= 15,000
Al 15,000
SotA 2tAl & 2 34,680 33,530 1,150
= 17,090
Al 17,590
201 LBt A H| 8,528 8,528 0
= 4,264
Al 4,264
02 352494l 8,528 8,528 0
OSIHEDNTH (LA &) AIRR3
8,528,000& 8,528
= 4,264
Al 4,264
202 04| 15,124 15,124 0
= 7,562
Al 7,562
01 2Ll 15,124 15,124 0
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el OIHAIE 33 L 2ANES 23 CERED
_ = (o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OH%NS SEdx ¥ g0 o
15,124,000 15,124
= 7,562
Al 7,562
206 M = Hl 4,528 3,878 650
= 2,264
Al 2,264
01 X2 H| 4,528 3,878 650
OfRdd A= AEME = 4,528
OKMHAS 9,056& * 505 * 1038/ 4,528
= 2,264
Al 2,264
301 LBt A= 6,000 6,000 0
= 3,000
Al 3,000
11 JIEtE A2 6,000 6,000 0
OAMLIHZAIY &=
50,000& * 129 = 10& 6,000
= 3,000
Al 3,000
405 XHo&HF S HI 500 0 500
01 XA 2 FF S| 500 0 500
O8 Tt Y (Z2IH) 500,000 = 1CH 500
ALINsAS 2 14,600 0 14,600
2 7,300
Al 7,300
202 o4l 1,400 0 1,400
= 700
Al 700
01 2L I 1,400 0 1,400
OAHLIIsAE 2dHLE=H Y| 1,400,000 1,400
= 700
Al 700
206 T 28 13,200 0 13,200
2 6,600
Al 6,600
01 =4l 13,200 0 13,200
OAHLIsAE AEME =A 13,200
Sl 2AE HAIIsAS
165,0008 * 20 = 43| 13,200
= 6,600
Al 6,600
HITSE SA =4 4,400 2,800 1,600
HEFE SFESA 22 4,400 2,800 1,600
201 gBt24y| 1,200 800 400
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